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Question Nos. 1 to 70 have four options, out of which only one is correct. You
have. to mark your selected option, on the OMR-Sheet. Answer any
40 questions. 40 x 1 =40
1. | 'Wﬁﬁﬁq-mm%ﬁqmagaaﬁw%wﬁwm% ?
Ay T e T o e w d
B). faf il T O s g
(C) = & Trfifess @ Ay g & iR U 91 wW e
@) aah

mI'DTE ISdT - - T



vt s @) fa F aa wye quaine faluar & o
(A)  Aoflag wnfa sgaeen

(B) waga wiiafa |

(C) mﬂﬁmﬁammwr@ﬂmw
D), wH A

Which of the following is the key social feature of Indian socicty

- — e
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3. syt ware & o 9 Rl 2 2
(A) T ' B) fafir
JC) fafirman @ gl (D) A A B

Which of the following is the characteristic of Indian soc
(B) Diversity

iety ?

(A)  Unity
oo (C) Unity in diversity (D) None of these
4 ﬁ;@ﬁaﬁ,“m{aﬁﬂmwmﬁaﬁﬁwaﬂﬁﬁmwaﬂﬁﬁ

qfomm 2" ?
' “ oy @ I, ST



lL‘J WARILY mmm o
4. frgl eI, It T 7 AR I @ dage

yforma 8 ?
A) T IR g . o SR
O A. &. 39 (D) . ¥, g@H

“The social formation of Indian society s the end prodt

Who said,
long historical process’ ? ‘
(B) B. R. Ambedkar
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\:rh: Aryan invasion in Indin g estimnted 1O hve b

many years ago ¢
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OS50 venrn o s



MUATLY YU D g

(A) 3500 years ago B) 2500 yeurn apo P
(C) 2000 ycars ago . (D) 3000 yenrs npo

S 450 T4 d WA N WY ey mad A wd @ e

(A)  FaTg @ 9w

€ T w p) fa ur

ch was the youngest religion emerged in India about 450 ycars s8¢0 [

(A)  Christianity (B) Jainism

C Isl .
J(z._]_:u. o "« ... (D) Sikhism



W) CISURILLLY (B) Jainism

(C) Islam (D) Sikhism

fogi #g, “wma Rl At o

(A) FEwEs - (B TER W

(C) Ve Yw D) g it

Who said, " India lives in its villages" ?

(A)  Vivekananda (B)  Sardar Patel

(C} Jawaharlal Nehru (D) Mahatma Gandhj

R Temd e el R # 2




8.

\' vawanarlal Nehru

Wiﬂﬁﬁmﬁm@ﬁﬁwﬁ?

@
J2f  =w

Indian Christiang are d1v1ded
(A)  Two

(C)  Four -
ﬁ'l:l‘ﬁa‘ﬁ'a:r ATHETAT L e v A

(D) Mahatma Gandhij

B) =
(D) g

into how many groups ?
(B) Three
(D) Five



(C)

| ' itﬁ éige
9. fwier st g 3

Four

(D) 39



10.

(A)  Bengan D1 s v

(C) Tamil 0 Urdu
mﬁ%ﬁmﬁmﬁm@wﬁmm@?ﬂ
T & ?

Whlch 0
rthﬁ fDllOWlnp_ 1S the u!'ﬂfy'lnE fartar tA ctronathanm tla o oo
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3T e el & o
(A) 2000 9§ (B) 3000 =
(© 4000 5§ | V{E{ 8000 ¢
How muycp old is the istory of Indian societv »
(A) 2000 Yeare



AV BUUL Y
**uw much olq ig the
(A)

istory of Indian society @ |
2000 Years (B) 3000 Years
(C) 4000'years - (D) 8000 Years _
12, ﬁaﬁaﬁwwﬁmﬁﬁﬂm maaﬂ'waﬁmﬁﬁi%m ?
M FRTEL Tifefy B AT Ry (
©) T T D) ey niy
Who invoked Women tq Participate . .0 .
(A) Mahatm.~ ~






14.

S.

{ﬂ" CUi A LS LauILLy

Religious discrimination

(¢} Cultural difference (D)

gt 1 FATURN frm wnd |l g7

a7 g IR

© % . Lo AW

The concept of rebirth is agggcjated With which religion ?
(A) Hindu (B) Muslim

(C) Christian (D) All of these

freffgg o SerR UEEAT FT S 24 ¢ ?



(A) Hindu {B} IVLLLTLEREL

(C) Christian (D) Al of these
(5. frofeed 3 SR TEEA FT FE HR 8 ?
~JA) 1885-1905 (B) 1905-1918
(C) 1919-1947 (D) 1947-1958
Which of the following is the period of liberal nationalism ?
(A) 1885-1905 (B) 1905-1918
(C) 1919-1947 (D) 1947-1958

6. VWA TEE How 6w e e g 2



(C) 1919-1947 © (D) 1947-1958
16. VR TEA wiE Y v e 99 g 2

A 1885 (B) 1857
(C) 1947 (D) 1917
In which year was Indian National Congress established ?
(A) 1885 « (B) 1857
(C) 1947 (D) 1917



(\ %) L%/ (D) 1917
7. IR-81 910 TR 30 6 AT T e w0 R o

® fey | B) T m
© fmm D) T T

Which name signifies em

(A)  Hind Rashtra -
- (©)

otional unity of our country ?
(B) Hamara Desh

Hindustan (D) Bharat Mata
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15, Frotun & 2w e A T T8 2
(A) WIS &1 @USTEHS (0T
(B) &
(€) ufEa 3R wgmwr i farum

e a1 :firar W wré wfvay @
Whink Af slae Follaece ~ 1. ot +theCharacteristic o =



v—7 AT L oLl ILLIVIL U1 L1ILCL Slekrrred

19. =R wa1, “vor w fd yed T sEen £ 39y & fe feer
&) fo= ~AB)  HETEE
(C) Twfhee . (D) TIWR
Who said, "Function and function alone is responsible for the
Caste system" ? - ;
(A) Risley (B) Maclver

(C) Nesfield (D) Majumdar
20. wfy & fPufo & @y § aEr % Rrerg =1 SR f5ER Rear o



(C) Nesfield (D) Majumdar
20. S % Pl & gy & o & fagr @ SR R R o

(A) T (B) fr
' gi@ (D) WERR : @
- Who has propounded the theory of 'Mana' in the formation of
.. (A) Hutton (B) Risley
- (C) Ghurye (D) Majumdar

21, FefeRen § @ v ) e i e ST s 2 2 -

(A whnfers vaat fi=1 e —r—



. _ wLuyc ) viajumaar
ail ﬁmﬁf@aaamﬁmﬁﬂmﬁmmﬁ% ?
(A i T (B)  wfiteh Teha
(O T T B A wh E
| - Which of the following is a factor contributing to the unity of I

“(A) . Geographical unity (B)  Religious unity
(C) Political unity (D)  All of these



22.

fr=fefega d | )7 o T & T 2P

(A) .amﬁia; qgam (B) YIiH® MU

(C) T H ATTH-UTery 4D) T 8 ot

Which of the following te, s is associated with marriage ?

(A) Economic cooperatj,n (B) Religious basis
(C) Upbringing of children (D)  All of these



23.

24.

L LY T L

(C) Upbringing of children E_D} Al of these
frgin ‘ofaHte T i Sy w1 A HaT R

() A R B . T, A
(c) . . gk D) frawd

Who has propounded the concept of 'Westernization' ?
(A) Yogendra Singh . (B) M. N. Srinivas
(C) G.S.Ghurye (D) Gisbert

¥R Rare’ o # e g gan 2 2
vk arfirorn faaTE (B Idfaare



24, ‘iﬂ’(ﬁﬂﬁ'ﬁﬁﬁmw'gm%?.

M) e e (B)

() afefaTe . (D)

arafaaTg
TH A HIS T8I

"‘Levirate' is associated with which of the following ?

(A)  Preferential marriage  (B)
(C) Exogamy (D)

25, ‘mgafy faae F PR TIEAE ?
M@ (B)

() 9N (D)

Endogamy
None of these

GIES
qt=



lb} Eixogdnly &=} AV WFLLYSS

25, ‘agafy fare’ % A TIETE ?

MR - (B) T
(C) =R | (D) U
'There are how many forms of Polyandry ?
. (A) Two (B) Three

(C\  Four (D) Five

T e i W



- - (C) Four (D) Five
_T:}25_._.ﬁﬁﬁﬁ§ﬁﬁﬂﬂﬁﬁﬁaﬁmuaﬂmﬁaq%?

o ) RS
() TR-HR WE-E H e

.JD] frafirme ey



(C) Parallcl COUSIN a1 iap=y

27. ﬁﬂﬁﬁ@ﬂ”fﬁmﬁg’ﬂ%?
() o fammE |
Je) GEIREEIH

(B) eI [EEI

(o) e fae

Nirbolok is associated with which of the following ?

(A) Marriage by intrusion (B) Marriage by elopement

(C) Marriage by service (D) Marriage by trial
28. mﬁaﬁﬁm‘q"rmmh%mam% ?



28.

29.

fq fyaTe ¥ GUOE H1 VoUW @ € 2

) e Fre (B) 4TS foaTE
(c) uew faEm D) FHE @A
In which marriage is Saptapadi performed ?
(A) Hindu marriage (B) Christian marriage -
(C) Muslim marriage (D) Al of these
fopm ad ‘fog frae sifufem af@ gem e
(4) 1950 JBf 1955

(C) 1960 (D) 1965
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C
%%ﬁiﬁo '
s NN — |
qﬁ %? (D) 1965
B)

(D) 33

How
man
i Yy typ
- es of Hi
- f Hindu marri
age ar
i e there ?
- Six |



B ey

(g 1960 (D) 1965
30, firg forame & fope TER T ?
: (A} ug B)
. ““How many types of Hindu marriage are there ?
-7 (A) " Five (B) . Six
“{C).. Seven (D)  Eight G



(A) - Five - ). Six

-~ (C) - Seven (D)  Eight

31.

v # frm o “f dee’ i vl e 2
(A) 2016 (B) 2017

(C) 2018 \(90/ 2019

@D

Drnras R [



(C) 2018 (D) “2u1v
‘TEL ERCELE aq K&y % P

(A) ¥ faemE BT Efﬁqq frate

C) T fomme D) ¥ & wE
'‘Mahr' is associated with hich marriage ? |

(A) Christian marriage (B) Muslim marriage

' f these
indu marriage (D) Noneo
(_C]‘E{lqg_.xl%h—_.._ﬂ.ﬁrmaﬂTﬁ?



[C] 2018 l]_.lj AV S

(A) ST o oy e e
) fegfemm o) T E T
'‘Mahr' is associated with hich marriage ? ‘

(A) Christian marriage (B) Muslim marriage

1T WeAane ﬁf fhESE



U‘\] R
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(C) Hindu marriage (D) None of these
e P T R o v e 2
JA) (B) A
© T (D) ST |
Who among the following has given the theory of | Mo
(A) Maclver (B) Morgan

2w D ffa11lt

(D) Westermarclf

nogamy' ?




4.

(A) Maclver (B) Morgan

(D) Westermarck

ﬁmﬁ%ﬁﬁ%qﬁzﬁaﬁw ﬁamaﬂtam%aﬂwmﬁ

() A D) TR .
Who among the follomg has defined kinship as the re

. . Y B Jy l:



L V<o |

36. TEH I g Fee R % qeftas gadl A JeE fR g P
(A) 130 B 141

C) 5 151
(C) ] (D) s pa



(U0 Y B Lo lLJj' = TiA

(C) 51 (D) 151
37. 3wdm 1 fafy 1 g A day waet B R yen d gt T e
R VI B) T

Jef =R (D) =

The kinship terms have been divided into how maﬂa E‘



-
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(C) Four (D} Five
38. gl & fhed WEU B E

(A) gl J(B) W

There are how manv farme af Lrimalio A



(C) - Four D) Five
ﬁ%ﬁﬁ@%ﬁwﬁmwmﬁfﬂaww%?

\Xﬂ/ Shie (B) TG
(C) Te®IfaeH (D) e

th has called culture as manmade part of environmert

A | § S PR i moa



-~ (©)  Herskovits (D) Bierstedt
40. - frefeled 3 fr=i aularers @ & @ § ‘s T W e R
\?6 Tyt (B)
(C) T (D) WE®
e |



— questioncarries 2 marks : | 1C
1. 3ufEyErg @ wn oy g ?

What is the meaning of colonialism ?

0. qpam @ grona Hifm

Define nationalism.

5. e et fafer % & sqEcT AR

4

Give two examples of cultural diversities in India.

m?ﬁﬂamﬁﬁaiﬁmﬁﬁ’ﬁaﬁ'ﬁnﬂaﬁwaaaﬁl =) '

4



s # e giE % B3 I R EEC
Write any three causes of population growth in India.
Reqerefiar aoT ATGERT e § A o 1 I B

Mention two differences between patrilineal and ma

mﬁﬁmmwmﬁ?

What is meant by
mﬁawﬁaﬂ%awvﬁaﬁﬁaéi

£ e AnramV.

trilineal kinship.

social stratification ?



7- Wch' LR AC rA S B Ll I

What is meant by social stratification ?

safare FEw % & SR F @
Write two causes of endogamy.
‘9. i fraw 27
i What is incest taboo ?
Page ]&

XII-QTR/547



R, faTe & 2 3l @) fore

Wwrite two objeetives of Hindy yparrvinge.
@ F R ?

What i1s Mutah ?

2. FE A HR ?

What is bride nrice ?



5 3 Idunxa v -
21 to 28 are Lo Answer
" Type Questions. Answer

Question Nos.
4 questions. Each question carries 5 marks :
. ' 4 % 5«
1. wTdd @A 57 @y ot B!
res of Indian society.

Describe the featu

22. mﬁu@wqﬁmwaaaqaﬂ%ﬁtﬁnﬁmﬁl .
. . _1-~ ~f national integration in



25.

26.

27.

" Discuss the kin

.arﬁlqa‘aﬁ%aaﬁamwﬁl

qH hi{A < dllehl =nl av¥In 6%

ng mates in tribal society.

SeraTehg GET A S grefl
Describe the ways of acquiri
Fag ToraTE T TER 2|’ wE A

'Hindu marriage is a sacrament.' Clarify.

maaﬂaﬁﬂﬁﬁﬁmmaﬁﬂﬁéﬂaﬂﬁm

ship usages with example.

_ mmnta and class.



1. Sufdvarg @t aref w87
= JUfAaETE g Ot ifa 8 forad g 237 TR 31 IR A e ST ATl ST AHOT YT 81

2. AparE & ufenfyg Hifsa
= AEATS a5 a1 & i @l ommm 2 & ufa om, e sk gaar & saen W g1




3. 9YRd ¥ gigfas fafduar & & 3o fifam)

)
(i) fafr g — S &8, afte, mRidh
(ii) fafera aer — 9 Rarh, <, rama

4. YR grAIfores §3EAT 7 g ufkad= sagul
)

(i) st egawn # e SR THTaT &t 31X e
(ii) Afaemai & fRAfa & gur




5. YR # ST gfg & fiF wror fafeg—
-

(i) Srfrem

(ii) T dareit # gUR
" (iii) Tt faarg




6. fuqgasita ofik Argasfia Ardert # & siax|

)

(i) forqasfia o g1 fUar @ aerar g, agasfa A ararg ©
(ii) firgasia # gow o1 g giar g, Stafds Argasia # Afge




7. GTHIoTeh TARIhT0T &Rl &1 SITAUTT 82

= THTS # Afxhal ol fafa Tl H sic bl ufehar st #71




8. Sidfefarg & & HRUT e
-

(i) graTioTeh URURTS ahl UTerd







10. feg faarg & gt Iew fafay|
(u)ﬂﬁaaﬁw’rﬁqﬁ

(||)G?|FIEETIIT11?L-T




21, YR TSt Y fAdwaret o quia A |

-

(i) Farfererar & genan

(i) STl e

(iii) gHfARgeEar

(iv) §g<h IRaR HoTTed!

(V) Hikepfden GURTSH AT Agd




22. MRd H AP YehlehuT hi ST chl GHIET e

mp

(i) irarg fafaerar
(i) enfHer srg=an

(iiil) &= SrEde
(iv) srfden fawsar
(v) STIfaerd deumE




23. fag faarg o fafv= @l &1 auiq &2

=)

feg 4" H 8 UhR & faarg A Y &:
(i) ST

(i) @

MES

(iv) UrsTigg




24, "gfem fag Us wwElian §° — WE &

éﬂﬁgmﬁwmﬂaﬂmmmmﬁmaﬂwwﬁrﬂﬂﬂﬂﬁlwﬂ#qﬁﬁmﬁrﬂ
|

25, SN T # sitga andt ora A 6 Rftet @ aofE &)

-
EGIGRGELS

(ii) €ar gra g
R LREEIT

(iv) wryfee: s




